
1

ae-bmfw (PART - A)

$ 1 apX¬ 15 hsc-bp≈ tNmZy-ßƒ°v Hcp am¿°v hoXw

$ F√m tNmZy-ßƒ°pw DØcw Fgp-XWw

$ \oe / Idp∏v t_mƒt]m-bn‚ v t]\- D]-tbm-Kn®v H.-Fw.-B¿.-jo‰v ]qcn-∏n-°-Ww.

1. Xmsg ]dbp∂hbn¬ k®nZm\µs‚X√mØ IrXntbXv ?
A CSt»cn \n\hn¬ hcptºmƒ B Imbn°cbnse IS¬
C Imbn°cbnse aÆv D FgpØ—s\gpXptºmƒ

2. Ihnbpw \ncq]I\pw `mjm]finX\pambncp∂ B¿.cmaN{µs‚  t\XrXzØn¬
\S∂ncp∂ kmlnXy N¿®IfpsS t]sc¥mbncp∂p ?
A tImemb B XXzakn
C kmlnXyXocw D ]pgtbmc N¿®

3. cmP≥ Im°\mS≥ \mbI\mbn A`n\bn® kn\na   kwhn[m\w sNbvXXv Bcmbncp∂p?
A tPmjn B a[p
C Pn. Achnµ≥ D _°¿

4. ""CSh Icn¶mdn≥ s]mØn¬\n∂ndßnb
sImSnb sh≈s∏m°w shºme∏mºns\m∏w

    Np‰nbpw AwKßfn¬  sImØnbpsa≥ \mSns‚
    k]vX \mUnbpw arX{]mbam°nb t\cw ..''

{]fb`oIcXsb°pdn®v Cßs\ FgpXnbXmcv ?

A ]n `mk-vIc≥ B sshtem∏n≈n
C k®nZm\µ≥ D Hm F≥ hn Ipdp∏v

5. t\mh¬ hn`mKØn¬ s]SmØ IrXntbXv ?
A AWnbd B DΩm®p
C {iotcJ D c≠maqgw

6. Db¿∂p \n¬°p∂ F∂¿∞w hcp∂ ]ZtaXv ?
A \nav--\w B XpwKw
C AKm[w D tNm´n¬

7. ""ssIbpw Imepw'' .H‰∏ZtaXv ?
A ssIImepIƒ B ssItbmImtem
C ssI¶m¬ D Im¬ss°
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8. Iq´Øn¬ s]SmØXv GXv ?
A Fs‚ PohnXw Acßnepw AWnbdbnepw B  I¿ΩKXn
C XpSn°p∂ XmfpIƒ D  hnizhnZymebw

9. kqN\Ifn¬ \n∂v  FgpØpImcs\ Is≠Ømtam ?
_wKmfn t\mhenÃv, IYmIrØv, ]Zva`qj¨ tPXmhv,
KWtZhX KpcpZ£nW F∂o IrXnIfpsS I¿Ømhv.
A Xmcmi¶¿ _m\¿Pn B tjmtfmt°mhv
C am¿°v  ssSz≥ D aWnIv _tµm]m[ymb

10. Iemcq]taXv?
`{ZImfnbpsS tImew sI´nbmSp∂p
hmZytafamb Im®ns° v́
ImapIn≥ ]mf apdn®v ]® Cu¿°n¬ sIm≠v
tbmPn∏n®p≠m°p∂ tImecq]w
`KhXn t£{Xßfnse A\pjvTm\ Iemcq]w
A sXøw. B IYIfn
C ]SbWn D Xp≈¬

11. BtZik‘n A√mØXv GXv ?
A hn≠ew B s\∑Wn
C sh¶mbw D ]\tbme

12. icnbmb tPmSn GXv ?
A  acw ˛ Fw Sn hmkptZh≥ \mb¿
B  Hmfhpw Xochpw ˛ Fkv sI s]m‰°mSv
C  IShptXmWn ˛  F≥ ]n aplΩZv
D  temIØnse \ZnIƒ ˛ kptcjv aÆmd»me

13. "\£{XsaÆpI' .CXnt\mSv tbmPn°p∂ Bibw GXv ?
A I„s∏SpI B BImiØn¬ t\m°nbncn°pI
C NXn°pI D B]Øn¬s]SpI

14. tX\n‰p hogp∂ ]q°ƒ sNmcn™pS≥
am\n®p sImsº√mw XmgvØn \n∂p ˛ CtX XmfØn¬
A√mØ hcnIƒ GXv ?
A AΩ°v \¬Iphm≥ sNΩp≈ tNeIƒ

\µ≥ X≥ ssIbnse \¬In sNm∂m≥
B Nn{X ]XwKsa  \ns∂ Is≠≥

NnØw  XpSn®pbcp∂p
C IÆm IÆmsb∂p XnÆw  hnfn®pS≥

IÆp\o¿ sIm≠v Ipfn®p sNtΩ
D DZym\ tZhX Xm≥ Xs∂b√tbm

lrZyamao aWnØnÆbn≥ ta¬
15. AhfpsS IhnfØv sXfn™ph∂ \pW°pgnIfpsS AgIpw

IÆpIfn¬ an∂nad™ \£{X {]`bpw ' ˛]cma¿iw GXp
IYm ]m{XsØ°pdn®mWv ?
A AizXn B kpld
C sNΩcØn D knwe
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ae-bmfw (PART - B)

$ 16 apX¬ 30 hsc-bp≈ tNmZy-ßfn¬ 10 FÆ-Øn\v DØcw Fgp-Xn-bm¬ aXn.
$ F√m tNmZy-ßƒ°pw 1 am¿°v hoXw

$ \oe / Idp∏v t_mƒt]m-bn‚ v t]\- D]-tbm-Kn®v H.-Fw.-B¿.-jo‰v ]qcn-∏n-°-Ww.

16. h[p ˛ hc≥ , KpWhXn ˛ KpWhm≥

F∂m¬. hnZpjn ˛.........?

A hnZKv[≥ B hnZzm≥

C sshZKv[yw D hnZym¿∞n

17. hyXykvXamb tPmSn GXv ?

A Sn.Un.cmaIrjvW≥ ˛ kpK‘n F∂ B≠mƒ tZh\mbIn
B  sI.hn.taml≥Ipam¿ ˛ DjvW cmin
C  H.F≥.hn. Ipdp∏v ˛ tXm∂ym£cßƒ

D  hn.sP.sPbnwkv ˛ \ncoizc≥

18. N{Ihmfw F∂ A¿Yw hcp∂ ]Zw GXv ?

A ]pXphm\h´w B koa

C Zo]vXn D am\w

19. hn´b°pI Iq´n¬ \ns∂s∂ Rm ˛

s\m´phm\n¬ ]d∂p \S°s´ ˛ BcpsS hcnIfmWnh ?

A kpKXIpamcn B AjnX

C _memaWnbΩ D eoemhXn

20. ISΩ\n´ cmaIrjvWs‚ IrXnb√mØXv GXv ?

A tImgn∏¶v B IpdØn

C Im´mf≥ D Nm°me

21. "DØa≥ HmSns®∂v Xs‚ t]∏dpw t]\bpsaSpØv FgpXn.

\ot]mSm XSnbm s]mß®°mcm ... \ns‚ i{Xp DØa≥"

Cu DØa≥ F∂ IYm]m{Xw BcpsS kr„nbmWv ?

A A¿jmZv _tØcn B Ajv-d v̂ BUqcv

C kn hn _meIrjv--W≥ D DØa≥ ]m∏n\nt»cn

22. t£{X]me\ymtb\ ]m{XtØmsS Iqkset\y AXpw AIØp

sN∂p CXnt\mSv tbmPn°p∂ hmIytaXv ?

A t£{X]me\v \ymban√ B t£{X]me\v \ymbap≠v

C t£{X]me≥ ]{XsaSpØp D t£{X]me\v ]m{XtØmsS

23. Xmsg \¬Inbncn°p∂ hcnIfn¬ thdn v́ \n¬°p∂Xv GXv ?

A t]mcm t]mcm \mfn¬ \mfn¬  ZqcZqcapbcs´
`mcX£vam tZhnbpsS Xr∏XmIIƒ

B hcnI hcnI klPsc henb kl\ kacambv

Icfpd®p ssIIƒ tIm¿Øp Im¬\Sbv°p t]mI\mw
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C kzmX{¥yw Xs∂ AarXw kzmX{¥yw Xs∂ PohnXw

]mcX{¥yw am\nIƒ°p arXntb°mƒ `bm\Iw

D kuc`yw sIm≠pw \ndßƒ sIm≠pw

Rm\nhnsSbps≠∂p ]q ]d™p

24. 2019se tI{µ kmlnXy A°mZan Ahm¿Uv t\Snb FgpØpImc≥ Bcv?

A {]`mh¿a

B Fkv ctai≥ \mb¿

C hn a[pkqZ\≥ \mb¿

D sI ]n cma\pÆn

25. ""ssIXha‰p Xm≥ ssIXpS¿∂p Nne¿

ss]Xßsfbpw ad∂p sNtΩ''

ASnhcbn´ ]ZØns‚ A¿∞sa¥v ?

A \∑ B Im]Syw

C kvt\lw D kt¥mjw

26. "I\Iab arKsa{Xbpw Nn{Xw Nn{Xw! cXv\`qjnXanZw"

hcnIfn¬ {]ISamhp∂ hnImcw F¥v ?

A `bw B A¤pXw

C kvt\lw D tZjyw

IhnX hmbn®v Xmsg sImSpØncn°p∂ tNmZyßƒ°pØcsagpXpI

ssN{Xw

Nn{Xbn¬ h∂p ]nd∂p \msa¶nepw

ssN{XanXp hsc I≠Xn√

Im\\ `wKnIƒ I≠Xn√

ImXcat√m \ap°v Imew

Imepw shbnen¬ ]pecn IØn ˛

°mfpw shbnen¬ ]Isecn™p

Imfp sacnI\e¥n NqSn

Imfna ]q≠ncpƒ s]m≈n hnßn

Im´pXo IØn ]IpXn sh¥

Ds‰mco  `qanX≥ tcmZ\ßƒ

{KmaßfmsI s]mXn™\¥

ImeØneqsS be™p t]msI

Nn{Xbn¬ h∂p ]nds∂¶nepw ktJ

ssN{XanXp hsc I≠Xn√

Im\\ `wKnIƒ I≠Xn√

ImXcat√m \ap°v Imew

 ˛F≥ F≥ I°mSv
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27. Imew `bap≈XmsW∂p Ihn ]dbm≥ ImcWsa¥v ?

A ssN{Xhpw Im\\ `wKnbpw CXphsc ImWmØXpsIm≠v

B ag s]øp∂Xp sIm≠v

C Nn{Xbn¬ ]nd∂Xv sIm≠v

D shbn¬ DZn°p∂Xv sIm≠v

28. ]Isecn™sXßs\ ?

A Nn{Xbn¬ ]nd∂psIm≠v

B Im\\ `wKnIƒ I≠psIm≠v

C FcnI\¬  NqSns°m≠v

D \nemhv ]cØns°m≠v

29. ImSv F∂¿∞w hcp∂ ]ZtaXv?

A  A¥n B  ssN{Xw

C Im\\w D ImXcw

30. BcmWv Icbp∂Xv?

A shbn¬ B ImSv

C `qan D {Kmaw

MATHEMATICS (PART - C)

* Questions 31-50.  Answer all the questions.  Each question carries 1 score.

* Use only Blue or Black ball pen to fill the OMR Sheet.

31.

From the Figure Find ∠AOD + ∠BOC

a) 100o b) 140o c) 80o d) 120o

32. What is the difference between the one's place digits of 3333 and 3333.

a) 0 b) 2 c) 4 d) 6

33. Length and breadth of a rectangle are in the ratio 3:1. Another rectangle with same ratio

and sides double that of the first rectangle. Find the ratio between areas of small and big

rectangle.

a) 1:4 b) 3:1 c) 2:3 d) 1:3

34. 50% of 50 is equal to which percent of 75.

a) 25% b) 662/3%   c) 331/3%
           d) 50%

A B

     C

D

(140O

O
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10

15

9

18

5

12

14

20

35. There are 5 Sundays in the calender of January, but only 4 mondays. What day is January

1st.

a) Thursday     b)  Saturday      c)  Sunday        d)  Friday

36. Among 300 students in a school, 45% are boys. How many Girl students are there ?

a) 145 b) 135   c) 235           d) 165

37. Which fraction given below is not in between ½ and ¾ ?

a) b)   c)          d)

38. 2 sides of a triangle are 10 cm. and 20 cm. Find out the third biggest side ?

a) 30cm   b) 29cm     c) 28cm       d) 11cm

39. If 'n' is any natural number, which of the following is an odd number ?

a) n+1 b) n–1   c) 3n+1           d) 2n–1

40. An amount divided to A, B in the ratio 4:3. A got Rs. 120 more than B. Then find out the

amount B got ?

a) Rs. 360 cq]    b) Rs. 180         c) Rs. 240       d) Rs. 480

41. 16½%  of  662/3 is ?

a) 14     b) 12        c) 11       d) 11½

42. In the figure AB ||PQ, BC || RS, ∠ABC=70o Find ∠QRS ?

a) 110O b) 100O c)  70O d) 130O

43. Howmany cubes of side 2 cm. can be made from a rectangular block of 12 cm. length, 10

c.m breadth and 8 cm. height.

a) 80          b) 100              c) 120       d) 96

44.  A trader bought amla at the rate of 10 Rs. for 11 and sold at the rate of 11 Rs. for 10. Find

out the percentage of profit.

a) 10%       b) 21%             c) 25%       d) 22%

45. Which of the following is added to 29 to get 210.

a) 21           b) 28                c) 29          d) 210

46. A train of length 100m. is traveling at an average speed of 36 k.m./hr.  Howmany seconds

will it take to pass a bridge of 60m.

a) 10           b) 16               c) 20          d) 36

A

B C

P

Q

R S)



7

47. From the figure below find the ratio of the area of shaded portion and the area of rectangle?

a) 2:1  b) 1:2 c)   2:3 d) 1:3

48. 3x+1 = 729, Then what is the value of x.

a) 5             b) 6                  c) 3            d) 4

49. The avarage speed of a car is 30 km/Hr. Find the distance travelled in a minute ?

a)    km.          b)      km.                  c)       km.            d)      km.

50. What is the area of     ABC

a) 9 sq. cm. b) 11 sq.cm.

c) 12 sq. cm. d) 15 sq.cm.

3

4

2

3

3

5

1

2

      

      

      

      

 

A

C B
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ROUGH WORK


